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Question Number : 1 Question Id : 79840732006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The number of cyclic groups of order & is
Options:

1 %2

o # 4
3 % 0

4 & o

Question Number : 1 Question Id : 79840732006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

B350 6 T (e DSaH st 20y

Options:

1 %2

o # 4
3 % 0

4 & o

Question Number : 2 Question Id : 79840732007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Ifa=(1,5 4, 3)andb=(3, 4, 2), thenaba =
Options:
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Question Number : 2 Question Id : 79840732007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
a = (1,5,4,3) s08a30 b = (3,4,2) esowéd aba™ =

Options:
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Question Number : 3 Question Id : 79840732008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The number of generators of an infinite cyclic group is

Options:
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Question Number : 3 Question Id : 79840732008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 4 Question Id : 79840732009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

The name of the theorem with statement "Every group is isomorphic to a sub group of A(S)

{the group of all bijections from the set S onto Itself) for some appropriate S” is

Options:
| ® Lagrange's theorem



5 # First sylow theorem

5 ® Cauchy’s theorem

il Cayley's theorem

Question Number : 4 Question Id : 79840732009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 5 Question Id : 79840732010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The number of r- cycles in the symmetric group Sn ,of degree n Is
Options:
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Question Number : 5 Question Id : 79840732010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 6 Question Id : 79840732011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The muiltiplicative identity in the sub ring S = {0, 2, 4, 6, 8} of the ring (£,,.9,,.@,,) of

integers modulo 10 is

Options:
1 ® 2

2_334
3« 6

4 % does not exist

Question Number : 6 Question Id : 79840732011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 7 Question Id : 79840732012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

The number of elements in the group Us (of all positive integers less than 9 and relatively

prime to 9) with respect to multiplicative modulo 9 satisfying a‘=1.the identity element is

Options:
1 ® 4

2.333
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Question Number : 7 Question Id : 79840732012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 8 Question Id : 79840732013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If (G..) is a group of order n and if a=G. then a*"'™ =

Options:
i ® o



3
3 o d

L% & theidentity element nG

Question Number : 8 Question Id : 79840732013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 9 Question Id : 79840732014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The number of non real roots of the equation 2 —10x° +15x+5=0 is
Options:

1. 2

Question Number : 9 Question Id : 79840732014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 10 Question Id : 79840732015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following is true?

Options:
Every ring is commutative

a Every is commutative ring is an integral domain
s % Every integral domain is a field

4 Every field i1s an integral domain

Question Number : 10 Question Id : 79840732015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 11 Question Id : 79840732016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Exactly one of the following is not a root of the equation P +1=0

Options:
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Question Number : 11 Question Id : 79840732016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
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Question Number : 12 Question Id : 79840732017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The linear transformation T: IR® — IR? defined by
T(a,b,c)=(2a—b+3c,-a+b+2c -2a+2b+c)is
Options:

, non singular

-~ % Singular

- % One-one but not onto

4 % onto but not one-one

Question Number : 12 Question Id : 79840732017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
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Question Number : 13 Question Id : 79840732018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A basis for IR® over IR is

Options:
% {{1,-1,2), (0,-3,6), (4, 1,-2)}

5 % 1(1,-1,2),(-1,2,2),(0, 1, 4)}
2 % {1 -1,2) (-1 2, 2), (2,35 O}

- {(1,-1,2),(-1,2, 2), (4,1, -2}

Question Number : 13 Question Id : 79840732018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
% f{1,-1,2), (0,-3,6), (4, 1,-2)}

o ® (1,-1,2),(-1,2,2),(0, 1, 4)}

3 % (11,2 (-1, 2, 2), (2,5 O}
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Question Number : 14 Question Id : 79840732019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The matrix of the linear operator T on IR? defined by

T{a, b c)=(la+b-3c,a+7b-c, 2a-3b-3c)

with respect to the standard basis of IR? is

Options:
2 1 =3
1 7 =1
;o 2 3 -3
B [
1 F =1
2 —3 —3
o ® -
(2 1 —3}
1 T 1
% =
3 v -
2 1 =3
1 i ]
2 -3 —3
e )

Question Number : 14 Question Id : 79840732019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
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Question Number : 15 Question Id : 79840732020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The rank of the linear transformation T: IR* — IR? defined by
T{a,b,c,dy=(2a+b,-3b+c,-c+d)is

Options:

1 % 4

>« 3

3 % 2

g4 %1

Question Number : 15 Question Id : 79840732020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 16 Question Id : 79840732021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Let T be a linear operator on a vector space V of dimension n. Exactly one of the following
differs from the other three.

Options:
, % Tisone-one

5 ® 11sonto

3 % T is a bijection

4 w rankof Tis<n

Question Number : 16 Question Id : 79840732021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 17 Question Id : 79840732022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



If the matrix of the linear transformation T: IR* — IR* with respect to the standard bases

of IR?and IR is

-1 2 1
2 31 32
,thenT(2a, 3b, - 2¢) =
-1 -1 2
.3 2 4
Options:

| % (-28+6b—2c, 4a+3b—4c, 2a—3b—4c, 6a + 6b - 8c)
S (-2a+6b—2c, 4a+3b—-4c, -2a+ 3b—4c, 6a + 6b - 8c)
2 J{—Qa+6b—?_c, da+ 3b—4c, - 2a—3b—4c, 6a + 6b - 8¢)

4% (-2a+6b—-2c 4a+3b—-4c, - 2a—-3b-4c, 6a + 6b + 8c)

Question Number : 17 Question Id : 79840732022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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; % (-2a+6b—2c, 4a+3b—4c, 2a—3b—4c, 6a + 6b - 8¢c)
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Question Number : 18 Question Id : 79840732023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If Ais an m x n matrix with rank r, then the dimension of solution space of XA=01s



Options:
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Question Number : 18 Question Id : 79840732023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
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Question Number : 19 Question Id : 79840732024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ItV and W are finite dimensional sub spaces of a vector space, then

dim (V + W) —dim (VnW) =

Options:
| % dimV -dimW - 2dim (VnW)

5 % dim % +dim W - 3dim (VnW)
dim V +dim W - dim (VnW)

o ®

- dimV +dimW - 2dim (VnW)

Question Number : 19 Question Id : 79840732024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
| % dimV -dimW - 2dim (VnW)

o % dim %V +dim W - 3dim (VnW)
dimV +dim W - dim (VnW)

o ®

sl dimV +dim W - 2dim (VW)

Question Number : 20 Question Id : 79840732025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 20 Question Id : 79840732025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 21 Question Id : 79840732026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

1 -1 1
The inverse of the matrix | 2 1 -2|15
-2 1 -1
Options:
5 B, <
i -4 1 -
-1 0 -1
{ﬁ -1 4}
-4 -1 -3
2.
1 0 -1
{6 —1 4}
o -4 -1 -3
—3 { e
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Question Number : 21 Question Id : 79840732026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 22 Question Id : 79840732027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 22 Question Id : 79840732027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 23 Question Id : 79840732028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The area (in square units) of the figure formed by lines represented by the equations

o

3% 4 S5xv + 2_‘1:2 —-3y—2=0 and 2x™ + 5xy + 2_1:2 =015

Options:
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Question Number : 23 Question Id : 79840732028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 24 Question Id : 79840732029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

) 2

The number of tangents drawn to the ellipse % + IT =1 from the point (1, 1) is

Options:
1.+ 0

Question Number : 24 Question Id : 79840732029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 25 Question Id : 79840732030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33

The locus of the poles of the tangents to the hyperbola X ,1-‘1 = a’ with respect to the

2 =
Parabola y~ =4ax is

Options:

- s
2.4

2w X +4yi=4a

2 2 2
4w X Ty =a

Question Number : 25 Question Id : 79840732030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 26 Question Id : 79840732031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The eccentricity of the conic given by “ locus of the point which moves so that the

sum of its distances from the fixed points (1, 3) and (-2, -1) i1s always 8 units” Is

Options:
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Question Number : 26 Question Id : 79840732031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 27 Question Id : 79840732032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
. i . x—1 y+1 =z-3 _
The equation of the plane containing the line = = through the point

3 =,

(2, 3, 1)is
Options:
3x—-3y—-5z+8=0
1 ®
T4 Ty &= =
2.\&;_1 3y—5z+10=0
22X+ 2y —52+15=0
B

4 % 6x—2y—3z+10=0



Question Number : 27 Question Id : 79840732032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
g 3x—-3y—-5z+8=0
1. %

2x—-3y—-52+10=0
2x4+2y—52+15=0

4 R 6x—2y—3z+10=0

Question Number : 28 Question Id : 79840732033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

x—1 -1 =z-1
The angle between the plane 2x — y + 2+ 2 =0 and the line - ='1} = ) 5

Options:

Question Number : 28 Question Id : 79840732033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 29 Question Id : 79840732034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

The center of the sphere with the circle x* + y* +z7 —4x — 4y + 4z —13=0,

2x+ y+ 22+ 10=0, as great circle is

Options:

Question Number : 29 Question Id : 79840732034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

2 o LT« (R T . o -
XY 2 -G+ 421320 . 3690 2x+y+2z2+10=0 ,ga Eyind
DyBor IoNE fiwo oIng) Sodo

Options:
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Question Number : 30 Question Id : 79840732035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the plane ax + by + cz = O meets the cone xy + ¥z + 2x = 0in two perpendicular lines,
then
Options:
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Question Number : 30 Question Id : 79840732035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Correct : 1 Wrong: 0.33

Single Line Question Option : No Option Orientation : Vertical
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The equation to the right circular cylinder with guiding curve as the circle through the

points (a, 0, 0), (0, a, 0), (0, 0, a)is
Options:

¥ 2 7 ¥
X +y 4w+ —axz—a =0

e

1 r2 73_ L - e, 3. R 2:
s X Y ¥ WYy -xz—a 0
3 ) 3 , - - 2=
s X Y+t - raZ-—a=

: ey et —xyrmErxE-—-a=0
4. ’ C

Question Number : 31 Question Id : 79840732036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

(a,0,0), (0,a,0), (0,0,a) Docoape Mrow ah Do CINE), AHFTOEID (1 0. SyHan
QPDAD CINE), DDECERHAD

Options:

3 3 3 o
Xy ++xv+y—az—a =0
X . ¢ g 2_0
s X tY AT W —y-m-a =

= ® x‘+y'+:‘+:=:j:—_1-':+xz—a'=0



5 ] ] .
$$.T_-l-'i‘_+:'—1‘L'+J-Z+Jlf—ﬂ'={}
4, ’ :

Question Number : 32 Question Id : 79840732037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

The shortest distance between the skew lines r=a +sb and r=c +td is

Options:

[EEEJ—_[EEE]
w‘ pxd |

(acd) - [cbd)
Ew‘ pxd |

|[n bd] - [c bd]‘

Gl
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The vector equation of the line through the point whose position vector is a and parallel to

the non collinear vectors & and ¢ is

Options:

i [ra c]l=[ab c]
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The derivative of sin * x with respect to (log x)z IS



Options:

- 3
3sm” xcosxy

=
| ® 2logx
XSHI™ XQOSX
) 2logx
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The radius of convergence of the series ZF‘T" IS

n=0=
Options:
], - 3

L
3

Question Number : 36 Question Id : 79840732041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



3
=",

?-
il 092 e9D0Es FE3 D), aﬁﬁ.ﬂ“go

Options:
g # 3

L
o % 3
5 of 2

1
4 % 2

Question Number : 37 Question Id : 79840732042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

The function T2 IR— IR (Where IR s the set of real numbers) defined by
fix) = 1 (if x is rational) and fix) = 0 (if x is irrational) is continuous

Options:
, % at every point of IR

“m at every rational point of IR

2 % at every irrational point of IR

at no point of IR
4 o X
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If the curves x = _1,;3 and xy = k cut at right angles then, a value of k is

Options:
1
2
1. ® s
1
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3 ® E‘E
1
5.7
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The maximum value of
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It there is an error of 0.001% in measuring the radius r of a sphere, then the percentage

. .. 1 L 4 :
error in measuring its volume V (given by V = ?fn-s ) is

Options:
, % 0.001

, % 0.002

2 o 0.003

4 w 0.004
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1 dx =

Options:
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The volume of the solid obtained on revolving about y — axis, the pan of the parabola

_1-1 = dax cut off by the latus rectum is

Options:
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—ad
1 #® 5

2.
—ra
> ® 5
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The surface area of the solid obtained by the revolution of the curve

3 25y
X=acosil.y=asmr.Is

Options:
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Options:
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The length of the curve r=a(l +cos@)(0=8=m) is

Options:

o R Ja
- #% 2a

4 % @
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Options:
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[ E

s 3 )
The degree and order of the differential equation [%} +a; + y=1respectively are
X X

Options:
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The differential equation obtained from v =a e " (acos2x+bsin 2x) on eliminating the
arbitrary constants a. b is
Options:

| % y'=2y"+5y=0



> ¥4y -3y =4

'+ 2y'+5v=0
3. \""l:"-‘ - - -

4 8 Y —2y —5y=40
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Options:
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If f(x) 15 a solution of the differential equation y' + iy = x and f(0) = 2, then f(31) =

Options:

1@2“1

o # -2

3$331Ti

4 « —3m
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dv 2x+3y+13

The substitution x =X + h, y =Y + k converts the differential equation —=
- Sx+y+13

Then, the values of k, h respectively are

Options:
;% 3.2

o F4 _3, 2

= o ‘3. -2
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T | '
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The differential equation M (x.v)dx+(2ve* + v’ e )dv=0 is exact if and onlvif M(x.y)=

Options:
| % y'e* +y'e’* +¢  where ¢is a function of x and y

b vie® + y'e +¢  where @ is a function of x alone
2

23 33 . ;
5 ¥ e’ +yve +¢  where ¢is afunction of y alone

i Naone of the given answers Is correct
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Options:
i et +ve +¢ QREE Pedd X,y o Hdnano

viet + vie T +¢ QELE PO X & g HIvoBo
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An Integrating Factor of the differential equation (v+xy” + ¥ )dx+(2xy+1)dy=0is
Options:

4 % E.—Z.x
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Options:
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Particular Integral of the differential equation y" + 2y’ + 4y = 5xe™2* is
Options:

w5 A,

b
o |

e ¥ (2x+3)

o | L

8
e (2x+1)
3 ¢

1 -
—e T (x+3)
4 %
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y' + 2y + 4y = 5xe”™ 093 00800 DAECH0 AL, DB DATERLD

Options:
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If f(x) is a solution of the L V. Poy"+y —6y =0, f(0) =1, f(0) =0, then f(x) =

Options:
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y"+y' =8y =0,0)=1,f(0) = 0 &d 0505 D560 D), Fed f(x) and f(x) =

Options:
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The functions cos 3x and sin 3x are dependent in

Options:
i [D1 1]

> w [2,5]
3 % 12,6]

i no where in IR
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Options:
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2 y
A singular solution of the differential equation 3y = 2px — ot [wfrere p=;i} is
x i
Options:
L ® 6x" —y=20
3 .
5 % x +6y=0
; y 6y=0
=2 '
3 S
_— 6x" +y=0
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A solution of the differential equation 4py —4p°x —1= ﬂ[‘u-f?ﬁ'e?p:%J Is

Options:

i 4y —c’x—2=0

5 g devy —4c'x—-1=0



3 % 4{}'—-‘1::"11'+1=0

L dey —cx+1=0
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Options:
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It a particle 1s moving so that the displacement s at time t is given by
5= éta + 5t2 — 4t + 1, then the acceleration and velocity at time t = 2 respectively are

Options:
;| 14,20

o % 14,10

5 w 20,10

4 % 20,12
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Options:
;| 14,20

o % 14,10

2 w 20,10

4 % 20,12

Question Number : 57 Question Id : 79840732062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Let OA and OB be two perpendicular lines. If 12, 5 are velocities of the point O in the

directions OA and OB respectively, then the resultant velocity is
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> % 12
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If the forces 10 and 16 are acting at a point O in the directions OA and OB respectively

{ where LAOB=¥}__ then the angle (& <) between the first force and the resultant force Is
2

Options:

J114
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If g is the acceleration due to gravity and if an object is dropped from a height of 200

meters, then, the velocity (in m. s') with which it touches the ground is

Options:

1.*"7";5\/E
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A constant force F is acting on a body of mass 3.0 Kg. changes its speed from 2.0 ms™ to

3.5 ms! in 25 seconds. Then the magnitude of F (in N i.e. newtons) is
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Moment of a force F acting at a point A about a point P is
Options:
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The resultant of the forces F,.F,.F; acting ata point O is

Options:
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Options:
F+F,-F,

1 ®

F+FK+F
7 2
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A constant retarding force 100 N is applied to a body of mass 40 Kgs, moving initially
with a velocity of 7 m. 57, the time (in seconds) for the body to stop is

Options:
1 v 2.8

5> B 14

e
®

Question Number : 63 Question Id : 79840732068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Options:
1 v 2.8
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®

Question Number : 64 Question Id : 79840732069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

A stone is thrown at a velocity of v m.s™' making an angle a with the horizontal, the range

on the horizontal is

Options:

1»
— sin(2a)
Zg
1'%

i sin(2a)

v
— sin(2a)
5 & 7



;—; sin(2a)
4
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g
Options:

% sin(2a)
1.

g—i sin(2a)

g 2
= sin(2a)

;—; sin(2a)
4 o
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Correct : 1 Wrong: 0.33

The maximum acceleration (in m. s2) of the train in which a box lying on its floor will remain
stationary is (given that the static friction between the box and the train is 0.15 and g m.s™

Is the acceleration due to gravity)

Options:
, o 0.15

, % 0.30

4 % 060
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; o 0.15

, % 0.30

o x 045

4 % 060
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Correct: 1 Wrong: 0.33

(33820)s =

Options:
. % 120034

- % 100234

5 » 123004

v None of the given answers Is correct
4,
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Correct : 1 Wrong: 0.33
(33820)s =

Options:
.« 120034

- % 100234

5 w 123004

"s?ﬁ}l)a‘:: 27e0e0 D) HTID DY)
4. ¢ =



Question Number : 67 Question Id : 79840732072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

If (x)1s = A2C, then (X)s =
Options:

| % 4505

o % 4055

5 % 5504

4 « 5054
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(K}m = AZC, 300063 {}{}5 =

Options:
, % 4505

. % 4055
5 % 5504

4 + 5054
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The number of octal words of length at most 4 (four) is
Options:

1170

1 =

o % 2340

5 « 4680

4 ® 9360
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Options:
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R
o % 2340

5 « 4680

4 w 9360

Question Number : 69 Question Id : 79840732074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The operation x *y=xy+xy represents the operation

Options:
, % AND

o ® OR

4« XOR
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X*FV=XV+XV 9D DHO30D SodarIed’ S8 Lrdinod

Options:
, % AND

> R OR
0w NOR

4 XOR
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The sum of the numbers represented by the binary words 111, 10111000 and 11101 in

the binary word form is

Options:

% 11111010
, % 11011110
. % 101111110
, 11011100
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ARG daraoes” 111, 10111000 vdodw 11101 Zordod AR 050 DG

Options:
, % 11111010
5 ® 111011110

3 % 101111110

ol 11011100
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The number of binary words of length 8, each consisting of even number of 15 (ones) is

Options:
1 ® 126

o % 127
5« 128

4 % 256
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Options:
1 #® 126

., w 127

5 v 128

4 % 256
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Xyztxyztxyz=

Options:
. 2X Xz
-
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XVZ+xyit+xyz=

Options:
. 2X Xz
)
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The number of zeros in the binary word generated on applying the XOR operation on

A =11000101 and B=101100111s

Options:
1 = 1

23
3 % 9

4 ® 7
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A = 11000101 208050 B = 101 10011 &5 XOR 083050 90080030y
&8 Gy 5@&@‘3 Qoo O Doay

Options:

1 = 1

23

3 % 9

4 ® 7
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Correct : 1 Wrong: 0.33

The number of distinct "Sums of Products” obtained from the fundamental products for

n —variables is

Options:

2w 2"

3 % 27
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The truth table

e e = T s TN s S e B
R = R . R i

P pe B Dy e b CER | el

15 corresponding the Boolean expression

Options:
. By +2)E+ T+ D

e

, x @HYHDEF T+ 2)

.0 EHYEDEL T+ )

L% @Y HDE+ T+ 2)
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Options:

| % (T+yv+z)(T+ V+ 2)

5 % (x+vV+2)x+ 7+ 2)
2w GHY+DE+ T+ 2)

4% (x+yv+2)(x+ y+ 2)
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The stable average of Central Tendency Measure is

Options:
. = Median

5 o Mean

- » Mode

4 = Geometric Mean
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What is the suitable average to be used if the data is Qualitative?

Options:
, % Mean

- % Mode
- « Median

4, % Harmonic Mean
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If Arithmetic Mean is 18 and Harmonic Mean is 8 then Geometric Mean is

Options:
1.« 12

, x 121
3%11

o 30
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Options:
1«12

, % 121
3%11
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Correct : 1 Wrong: 0.33

The Arithmetic Mean and Geometric Mean for two observations are 5 and 4

respectively. Find the two observations?

Options:
1. #® {4J 4}

o ® {34' 8}

=z R {4: 8}

sv(82)
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Options:
1. #® {4J 4}

o ® {31' 8}

=z R {4: 8}

1v(82)
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Correct : 1 Wrong: 0.33
The Mean and Variance of 5 observations is 4.4 and 8.24 respectively. Three
of the five observations are 1, 6 and 2. Find the other two?
Options:

1 % (8,5)

e {9: &'}
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Options:

1N [8;3)

i 4 (9, 4)

(10, 3)
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The Mean of 100 observations is 50. What will be the new Mean if 5 is added and
each observation is multiplied by 37

Options:

, = 160
5 « 165

2w 170
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Options:
, % 160

» & 165

2om 170
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The average mark of boys in particular subject was 80 and that of girls was 65.

The average mark of all the students was 74. The ratio of boy to girl is

Options:

1 ® 2:3
o W 1:3
= #® 3:1

4 v 32
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Options:
1 ® 2:3

> ® 1:3
= ® 3:1
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Question Number : 83 Question Id : 79840732088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The point of intersection of the less than and the more than Ogive corresponds to

the

Options:
Y Median

> % Decile
- » Quartile

4 % Mode
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The breadth of the rectangle is equal to the length of the class interval in

Options:

o Freaquency polygon
5 o Area Diagram

- Ogive



4% Pictogram
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Correct : 1 Wrong: 0.33
Frequency density is used in the construction of

Options:

, = Bar diagram

5 % Freaquency Polygon

il Histogram

4 = Ogive
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Question Number : 86 Question Id : 79840732091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0.33

H.A Struges formula for determining class-intervals, the number of classes is

Options:

 « K=3332log;, N

K =3.323log,, N

o B

. « K=3222l0g,, N

, » K=3322log,o N
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Options:

K = 3.332log,, N

1 =%

K = 3.323log,, N

> ®

. « K =3.222log,, N

, v K=3322log,oN
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Probability is a measure, it measures

Options:



: Uncertainity

Chaos

ik

Length

Liquids
4 ®
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Relative Frequency always lies between

Options:
1 ® {_11 1]

o W {0.' 1}

4 % [_3: 3]
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Correct : 1 Wrong: 0.33

The definition of Emperical Probability was given by

Options:
i lames Bernoulli

- % AN. Kolmogorou
- Von Mises

_ Jacob Bernoulli
4 %
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Question Number : 90 Question Id : 79840732095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The first person to obtain a Quantitative measure of uncertainty is?

Options:

. James Bernoulli

_Jacob Bernoulli
o ®

s % Pascal

4 = lames Boole
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Question Number : 91 Question Id : 79840732096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A is an event. If P(A) = 1, then A is called

Options:
— Null Event
il e

» % Compound Event

5 off Sure Event



4 = Independent Event

Question Number : 91 Question Id : 79840732096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

A 93008 208 2005 . P (A) = 1 0900308 A 0 e 0odrcd

Options:
wa}s o BIAT]

T

L % R0OINE DOOD

fi:n%be:a FSRTATY
3. ¢

Question Number : 92 Question Id : 79840732097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Find the missing frequency from the following data, given that the Median mark

is 23.

Mark: 0— 10 10—20 | 20—30 | 30—40 | 40—-50
No.of students: 5 8 7 6 3

Options:

1 ® 10.5
> « 10
o #® 20
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Options:

. % 10.5

= W 20
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Correct: 1 Wrong: 0.33
If o is the standard deviation of x;x5x5 ... ..... X, , then the standard deviation of

k —x ik —xk— x5 ... k—x,,is
Options:
1.« 0

g_ﬁk(}_
s w K—0

4_&5‘]‘!{
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Question Number : 94 Question Id : 79840732099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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If m is the Arithmetic Mean of x4, x5, ..., x,, then the Arithmetic Mean of

5 P AP S
Options:

| % m

> % b+ m

52 % D—m

4 DM
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Correct : 1 Wrong: 0.33
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Options:
1 ®# M

> % b+ m

52 % D—m
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Correct : 1 Wrong: 0.33
The main drawback of arithmatic mean is

Options:

. w Itis affected by small values



It is not useful for further mathematical analysis

i It is very much affected by extreme values
3.4

, w Itisnot based on all observations
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Question Number : 96 Question Id : 79840732101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Standard deviation is not independent of change of the

Options:
| % Origin

il Scale

- & Mean

4 » None of the given options is correct
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Question Number : 97 Question Id : 79840732102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The width of each of nine classes in a frequency distribution is 3.5 and the lower
class boundary of the lowest class is 12. Which one of the following is the upper

class boundary of the 9" class?

Options:
1.« 43.5

. % 47.5

Question Number : 97 Question Id : 79840732102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Options:
1.« 43.5

s % 47.5



Question Number : 98 Question Id : 79840732103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The data collected in population census are termed as

Options:
| % Secondary data

. w lertiary data

b Primary Data

4% Qualitative data

Question Number : 98 Question Id : 79840732103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 99 Question Id : 79840732104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The following is used in collection of population census data
Options:

Questionnaire
1. %

o i Schedules

- » Datafrom journals



_— None of the given options is correct

Question Number : 99 Question Id : 79840732104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 100 Question Id : 79840732105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

For comparison of magnitudes of three variables we use

Options:
L % Simple bar diagram

i freaquency curves
. Histogram
3 ®

Multiple bar diagram
4 &

Question Number : 100 Question Id : 79840732105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 101 Question Id ;: 79840732106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Sum of the deviations of a set of values from their arithmetic mean is equal to

Options:
1 ¥ ero

> % Minimum

= % Maximum

4 % Mean

Question Number : 101 Question Id : 79840732106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 102 Question Id : 79840732107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



In a sample survey, errors may also arise due to defective frame and faulty

selection of sampling units.
Options:
; = Sampling
Non-samplin
-~ phng

- ® Response

4 % Non-response

Question Number : 102 Question Id ;: 79840732107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 103 Question Id : 79840732108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The complete list of sampling units which covers the population is known as

Options:
;= Sampling fraction

.. Census survey
P

2 % Sample survey



4  2ampling frame

Question Number : 103 Question Id : 79840732108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 104 Question Id : 79840732109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A measure of central value which depends on first 50% of observations is

Options:
_ Mean
L

_ Geometric Mean
o ®

- « Median

Maode

Question Number : 104 Question 1d : 79840732109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 105 Question Id : 79840732110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Consider the following statements:

1. Quadratic Mean is always greater than the Arithmetic Mean.
2. Quartiles are not equidistant from Median in Symmetrical distributions.
3. Mode is the average to be used to find the ideal size foot wear

Which of the above statements is/are correct?

Options:
; = 2and 3 only

55 only

5 = 3 only

4 = land3only

Question Number : 105 Question Id : 79840732110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 106 Question Id : 79840732111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

What are the measures which express the spread of observations in

terms of distance between the values of selected observations?

Options:

. Quartile Deviation and Standard Deviation

. » Range and Quartile deviation

- % Mean Deviation and Standard Deviation

, » Range and Mean deviation

Question Number : 106 Question Id : 79840732111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 107 Question Id : 79840732112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

For any two numbers a and b, Standard Deviation is

Options:
la+b|

Question Number : 107 Question Id ;: 79840732112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 108 Question Id : 79840732113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

If Mean << Median or Mean < Mode then the distribution is

Options:



o Positively Skewed
2 Negatively Skewed
- » Symmetric

ol None of the given options is correct

Question Number : 108 Question Id : 79840732113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
OGO < 2A{AESD0D By SOG[D < EFETOFSO0 e90INED

LA REI R Pt

Options:

SO @%"Eélej

i

20ETS) S O ah
2 o -

: %‘g;ﬁm

, BOND 2T DD HTPD )

Question Number : 109 Question Id : 79840732114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Limits of karl Pearsons’ Coefficient of skewness s, are

Options:

5 % Ise| <2
3 ® |5klil
5t 1311:]:—}1

4



Question Number : 109 Question Id : 79840732114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 110 Question Id : 79840732115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Given Q; = 18,05 = 25, Mode=21 and Mean=18. Find the coefficient of
Skewness.

Options:

, % 0.812
> % -0.714
5 % -0.812

e 714

Question Number : 110 Question Id : 79840732115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
, = 0.812

- % -0.714

5 x -0.812
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Question Number : 111 Question Id : 79840732116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If mean and Geometric mean of 10 observations are 12 and 9 respectively, then

variance is

Options:

T 64

Question Number : 111 Question Id : 79840732116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 112 Question Id : 79840732117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Pearson Coefficient of Skewness for a distribution is 0.4 and Coefficient of

Variation is 30%. Its Mode is 88. Find the Mean and Median.

Options:

, » 10and 96

> % 96 and 100



_ 96 and 86

4 « 86 and 96

Question Number : 112 Question 1d : 79840732117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
. » 10 206050 96

, x 96 208am0 100

_— 96 Sobodn 86
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Question Number : 113 Question 1d : 79840732118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
The empirical relation between Mean deviation (MD) and Standard Deviation (SD)
s
Options:
. » 5MD =4sD

» % 4MD = 55D
5 % 6MD=55D

4 % 3MD = 25D

Question Number : 113 Question Id ;: 79840732118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
. » 5MD =4sD

, % 4MD = 55D
5 % 6MD=55D

4 % 3MD = 25D

Question Number : 114 Question Id : 79840732119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

A Measure of dispersion which does not depend on the unit of measurement of

data

Options:
., = Mean Deviation

5 % Standard Deviation

e Coefficient of variation

4 » Range

Question Number : 114 Question 1d : 79840732119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 115 Question 1d : 79840732120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Kurtosis of Normal distribution in terms of 5, coefficient is

Options:

p u B2>3
2.*}”6’2*:13
3_332:0

4 B }82:3

Question Number : 115 Question Id : 79840732120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
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Question Number : 116 Question Id ;: 79840732121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Coefficient of determination lies hetween the limits
Options:

1. ¢ [0.1]

RCEY
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Question Number : 116 Question Id : 79840732121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

1. ¢ [0,1]

o B (0'1)
3 8 (=1,1)

4. % [-11]

Question Number : 117 Question Id : 79840732122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The correlation between Intelligence and Demand is
Options:

, = Negative

, = Positive

o Mon-Sense

4 = Either positive or negative

Question Number : 117 Question 1d : 79840732122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 118 Question Id : 79840732123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The limits of Rank correlation coefficient are
Options:

[0,1]

;

5 R [_ 1 rD]

3 ¢ [-1,1]

o [05,0]

Question Number : 118 Question Id : 79840732123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

[0,1]

5 % [_ 1 rﬂ]

3 [-1,1]

, » [05,0]

Question Number : 119 Question Id : 79840732124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



For a group of 8 students, the sum of squares of differences in ranks for Telugu
and English marks was found to be 50. What is the value of rank correlation
coefficient?

Options:
, % 0.37

ssva DD
. x ~0.37

4 v 0.40

Question Number : 119 Question Id : 79840732124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

, % 0.37

o ® -0.40

. % 0.37

. v 0.40

Question Number : 120 Question Id : 79840732125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
For 20 pairs (x;y;) of observations the correlation coefficient y(x,y) = 0.4 and
X =12,Y = 15,02 = 9,02 = 16. Later it was found that the pair (x=20,y=15)
was wrongly taken as (x=15,y=20). Find the correct value of the correlation
coefficient ?

Options:
, = -0.31



5 051

5 B3

, % -0.61

Question Number : 120 Question Id : 79840732125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
20 200 (x;y;) DBV DI Doeod s ¥(x,y) = 0.4 2dosw X =12,

Y = 15,07 = 9,0y = 16. 3000 2,8 2 (x=20,y=15) e3c0e0 SOy (x=15,y=20)
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Options:
, » -0.31

5 051
5 B3

4 % -0.61

Question Number : 121 Question Id : 79840732126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If the correlation Coefficient r is more than 6 times the probable error, then

correlation is

Options:
o Significant

» w Posilive
- » Negative

48 Not significant

Question Number : 121 Question 1d : 79840732126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 122 Question 1d : 79840732127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

If the correlation coefficient ris 0.917 and its Probable Error is 0.034. What

would be the value of n?

Options:

;% 10

> o 8

Question Number : 122 Question Id : 79840732127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
p = 10

o« 8
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Question Number : 123 Question Id : 79840732128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The coefficient of rank correlation of the marks obtained by 10 students in

statistics and accountancy was found to be 0.2. It was later discovered that the
difference in ranks in the two subjects obtained by one of the students was
wrongly taken as 9 instead of 7. Find the correction coefficient of rank

correlation?

Options:
, % 0.394

, % 0.390
2 % 0.392

, v 0.391

Question Number : 123 Question 1d : 79840732128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
, % 0.394

, % 0.390
5 % 0.392

, v 0.391

Question Number : 124 Question 1d : 79840732129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



The Logarithmic Straight Line is used as an expression for

Options:
, = Absolute movement

5 % Random movement

s Secular movement

4 R Irregular movement

Question Number : 124 Question Id : 79840732129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 125 Question Id : 79840732130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

Which average is used for Smoothening a Time Series?

Options:
_ Pooled average

i~

-  Moving average

Weighted average

. Simple average

Question Number : 125 Question 1d : 79840732130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
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Question Number : 126 Question Id : 79840732131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

In time series , deseasonalisation is needed for the study of

Options:
;. Cyclic Component

R Trend Component
2 ® Random Component

None of the given options is correct
4 ®

Question Number : 126 Question Id : 79840732131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 127 Question Id ; 79840732132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The Oscillation movements in a time series with period of Oscillation more than
one year are termed on

Options:
. w Trend

Seasonal Variation

oy

e Cyclic Variation

Irregular variations

4. ®

Question Number : 127 Question Id : 79840732132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 128 Question Id : 79840732133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Number of equations required to fit Second Degree Parabola Curve?

Options:



Question Number : 128 Question 1d : 79840732133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Options:
1 % 4

Question Number : 129 Question 1d : 79840732134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Paasche’s price index is based on

Options:
N Base year quantities

~ Average of base and current year quantities
2 ®

— Geometric mean of base and current year quanities

2 Current year quantities

Question Number : 129 Question 1d : 79840732134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 130 Question Id : 79840732135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The prices of a commodity in the year 1985 and 1990 were 25 and 30

respectively taking 1985 as base year the average relative price is:

Options:
, = 113.25

5 u 110.25

. » 108.79

4 v 109.54
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Options:
, % 113.25
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. % 108.79

. v 109.54
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Real wages are defined as

Options:
Cost of living index

X 100

| % Money wages

Money wage

® Purchasing power

Money wages

» 100

> Cost of living index

Money wages X Price index
4 %

Question Number : 131 Question Id : 79840732136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
TURD DSDW U OO LCHE
Options:

200 2P FAPLS
- Q.D;:j 825200

x 100

@35 Desda

o ® Eoffen 38

G Desdn

B35 HAPE AFDE x 100

3 W

Gedf DEDOW X GO0 FE

Question Number : 132 Question Id : 79840732137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0.33
The most appropriate average used in the construction of Index numbers is

Options:

. Arithmetic mean

5 off Geometirc Mean



- » Medium

4% Harmonic mean
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Laspeyre’s Quantity Index Formula with usual notation is
Options:

2 49ijPoj % 100
{ « LdojPoj

24ijPoj x 100
5 % L4ijPij

2 qijPij % 100

5 ® X qojPij

Y 4ijPoj
i 2 Qojpij

® 100
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Options:

% 4ijPoj % 100
| « LdojPoj

2 qijPoj % 100
5 ® Y. qijpij

2 qijPij
ﬁ}( 100
5 ® Y qojpij

Y 4ijPoj % 100
i 2 QojPij
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Marshall-Edge worth Price Index does not obey
Options:

o Time reversal test

. % Unittest

_Factor reversal test
3 ¢

None of the given options is correct
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Consumer Price index is same as
Options:

i Marshal — Edg worth index

i
S Laspeyre’s Index

Paasche index

_ Fisher Index
P #
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Fisher's Index Number is the only formula among all other formula which satisfies

Options:
Time Reversal Test

1,

.  Factor Reversal Test



s Circular Test

4 ® Unit Test
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Correct : 1 Wrong: 0.33
The most suitable average to determine the Cost of Living Index for family budget
method is
Options:
i Arithmetic Mean

. » Geometric Mean

e Weighted Arithmetic Mean

, » Median
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Fisher’s index number is the between laspeyres’ and paasche’s index

numbers

Options:
. Geometric mean

. % Harmonic Mean
5 » Arithmetic Mean

4 » Median
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Marshal Edgworth index number lies between

Options:
, % Fisher index and laspeyre's index numbers

_— Fisher index and paasche’s index numbers

- Laspeyres and Drobish-Bouley index numbers

Laspeyres and paashe’s index numbers
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Correct : 1 Wrong: 0.33
A bag contains 6 white and 3 black balls which are identical in shape. One ball is

drawn at random, what is the probability it is white?

Options:
1
1 B 2

[d
%
LR

| =
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index number satisfies circular test

Options:
r
, ® Laspeyre’s

., » Paasche’s

- » Fisher’s

il Kelly’s
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Question Number : 142 Question Id ;: 79840732147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The following data relate to the price of rice per kilogram in different years

year 1998 1999 2000 2001 2002 2003 | 2004
Price(Rs): 6 7 7 8 10 14 12

Find the link relative value for the year 2002

Options:

, % 100
» x 114.29
- ¢ 125

4 = 140
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Question Number : 143 Question Id : 79840732148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong: 0.33
Chain index is defined as
Options:

current vear link relative X preceding vear chain index
100

1, W

preceding vear link relative
100

previous yvear fixved base index

X100

5 current yvear link relative

- None of the given options is correct
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Real income is also known as

Options:

, Deflated income



. = Increased income

- Decreased income

.. Price index
4. %
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Most widely used model in time series analysis is

Options:

_ Additive model
..

> Multiplicative Model

- # Linear Model

4 ® Mixed Model
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The graph of the time series is also called

Options:

, = Histogram

5 % Frequency curve
5 off Historigram

- None of the given options is correct
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The correction factor used in the computation of rank correlation when tied
observations are present in the data is?
(‘m” is the number of times an observation is repeated)
Options:
m(m*—1)

1o 12

m*(m—1)

o R 12

m({m—1)

=z ® 12
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In a scatter diagram if all points appear to form a straight line going down ward
from left to right, then the correlation is know as

Options:
. perfect positive correlation
18

e simple positive correlation

- = No Correction

Perfect negative correlation

4 ®
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To compare the variability in two series we use

Options:

, = Standard deviation

Coefficient of variation
o o

- » Mean Deviation



ol Scatter diagram
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Geometric mean of five observations 2,5,8,0,12 is

Options:
1.« 0

o % 3.9487
- % 5.5663

, % 9.8648
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